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[1S4P)
B B 108 208 3o18 4018 508 68 BEE X1
Al E B8 R545 R5.7.6 R595 R5.11.21 R6.1.24 R6.2.2 —
BROEL5NIZE R54.19 R5.7.27 R5.9.21 R51214 R6.2.20 R6.2.20 —
MEEEY) [opm] 4 2 2 <2 4 2 30K
18 16 K & [ppm] <4 3 4 <4 3 11 50K~
2281t [oom] 34 25 25 29 33 33 50~
30U A [g/mN] <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 001K
£ K IR [ug/mN] <2 <2 <2 10 30U
[254P]
B B 108 208 3o18 4018 508 68 BEE X1
pEl == R545 R5.7.6 R595 R5.11.21 R6.1.24 R6.2.2 —
BROEL5NIZE R54.19 R5.7.27 R59.21 R51214 R6.2.20 R6.2.20 —
MmEEEY [oom] 3 <2 2 <2 <2 <2 30~
1816 K& [ppm] <4 <3 <3 <3 <4 4 50F
2281t [oom] 28 24 25 23 29 32 50~
30U A [g/mN] <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 001K
£ K R [ueg/mN] 2 <2 <2 <2 30U
Bs BEERIECBMRRE1I2UBRBEEERT, X1 BEBR NREBEREBEE] OFHEEEERT,
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[1S4P)
B B 108 208 3@o18 4018 508 6oB8 BEE X1
Al E B8 R545 R5.7.6 R595 R5.11.21 R6.1.24 R6.2.2 —
BROEL5NZH R54.27 R58.2 R59.27 R51214 R6.2.20 R6.2.22 —
S1AFIVHE [ng-TEQ/MN] 0.00000078 0.00000056 0.000028 0.00022 0.000017 0.0000018 0.05M~
[254P]
B B 108 208 3@o18 4018 508 68 BEE X1
pEl == R545 R5.7.6 R595 R5.11.21 R6.1.24 R6.2.2 —
BROEL5GNZH R54.27 R58.2 R59.27 R51214 R6.2.20 R6.2.22 —
S1AFIVEE [ng-TEQ/MN] 0.00000063 0.00000050 0.0000016 0.00018 0.000014 0.000032 005~
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B B 108 208 308 4018 HEE X2
pEl == R545 R5.7.6 R595 R6.1.24 —
BROEL5NZH R54.27 R58.2 R59.27 R6.2.20 —
54 A3 BRAEI (E 1%@ 0.0024 0.0015 0.0013 0.0029
UE?TEQ/%T PO 25P 0.0011 0.00087 0.0000010 0016 SIS
ELCAMN 017 017 0.16 0.14
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